SUMPO SuMPO EPD SUMPOBRIESAINTOIS L

E p D _ —HE RN AT S IR EHEERAE
‘o 4T NRIEEE (EPD) HRHTFRERAME-14-8
R RLELED KANDA SQUARE GATE
BF#xFS ¢ JR-AI-25030E https://ecoleaf-label.jp

FUJIFILM

Value from Innovation

BITOMIL EVRA A/N=Y3UHAE]
FUJIFILM Business Innovation Corp.

A3 B/ ODOEEGH

FUJIFILM A3 Monochrome Multifunction Printer

Apeos 2061 (Model-P-1T)
— (for JP)

Apeos, Apeos 07, ApeosPro. ApeosPort LU ApeosPrint [, BEITIALIRAM/R-Y 3V A SR OB REIZ LR EEIZETT,

HEHM BHRES JR-AI-25030E
51 BERY WEFPCREFS  pA-590000-Al-08
PCR# BERA D e
HEMRERRE NESI=| 2025410828
[ =3 (RS a4 REEEMEE  0254989A
OFEMERE QEE QB OFFER - R REEA VAT LFREEA
GBEZE- UYL RAES 2025-FB-EL-011
fREEE#hEAR 20304F9A8H
HAOB, TEMLR-FET PCRLE1I-DENE
A : Apeos 2061 (Model-P-1T)

REHS 2023F 98 1H
FEMH+Hk - B/U0EEE EPAR) EER ®IE Ex

ENRIRE : /70 20ppm (A4 LEF) (FFE — I EE AT AT F VRS )

BRAMYIZ A3, 117" E=ERIE B ET
JUVb/aE- NERIREES
il T R B e ]
ISO14025(Z 5> ARE & R U T~ DRI LIAREE
CIRER WA
* 27 AR EZ I B EGNORTIDHAR, YATARTET-LBERD

£HER
Muahth BEIMIVAESRRASIR—>3 kAt

EEhAXHREHFSVET HIE
https://www.fujifilm.com/fb/

Z#%&FS 1 JR-AI-25030E


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

SuMPO SuMPO EPD SUMPOBRIRINNTOIS A

E p D _ — A FE A AT F IR S
) '0 S S4TINRIEEE (EPD) BRI A E R A RE1-14-8
VERIFIED KANDA SQUARE GATE
ﬁﬁﬁﬁ . JR-AI-25030E https://ecoleaf-label.jp
191V R EFFMER
o . . fEF - HEHs
REFRERRE | EUSERE T BB e BEEERPE
28
S[REEH-SE kg-CO2eq 2.94E+02 1.65E+01 2.43E+01 3.59E+01 6.40E+01
AV ERHIE kg-CFC-12eq 2.85E-05 2.71E-08 2.23E-08 5.44E-07 1.29E-08
EXREL kg-PO.4132-eq 7.85E-03 3.25E-04 1.47E-04 7.00E-04 6.76E-05
g2 e kg-SOeq 9.07E-01 1.17E-01 3.32E-02 2.26E-01 6.54E-02
HALRZAFIIV L kg-CzHaeq 6.30E-03 1.02E-05 2.25E-04 1.51E-04 4.88E-04
FEME R B-S1 kg-Sbeq 4.03E-01 6.50E-05 1.08E-05 2.79E-03 1.23E-05

S1T917WAIRY B3 REEER

—REROEMICEAT BIEF

RREEEE | MESRE | ERE E?;B‘?% P
BAEARE—RER MJ 8.66E+00 2.45E-03 1.97E+02 4.63E+00 5.26E-03
FF/LETRE—RER MJ 8.32E+02 1.88E-01 2.77E+00 3.11E+01 7.00E-02
BERRE—RIINF- MJ 6.89E+02 1.49E+02 7.59E+00 2.77E+02 2.76E+01
HEBFETR—RIRIF- M) 4.99E+03 5.94E+02 2.89E+02 1.15E+03 3.20E+02
WKDHEE m? 2.05E+00 1.13E-02 2.07E+01 5.43E-01 4.95E-03

EEERICATZEMIER
BAREAAGERELTERELELE,
EEHEPAR)DIZE YT UATEELTVET,
‘B RO EFERPRESERTT,
fEA - HRERRICBI R BROA T IS ENE A,
ERBOEN G, IRINF-A5-T0JT LVer3 28 ¥ (A>T E LETECIEE TTICEELELE,
A8 E ENRIAREK(E. 60,0004 TF,
1/4 x 20 (Y37/H) x 10 (17) x 5 () x4 GB) x 12 (7 B) x 5 (£F) = 60,000%%

Z D DIRIERIEIEER

CIRINF-RF-T0Y5LVer3 2 BE,

MRIBSUMECEI T RS FEVELCEAI SRR
1"H

E-ME (ERAFHS) L 43 CAS No. ENE
B 21 kg - - -
Sus 0.14 kg - } B
FIVIZUL 0.53 kg
FI3AFYY 20 kg BREfIE, LCIT-5R-RIDEA Ver3.4, SUMPORREININ TOIILZEFET -4
N 0.25 kg Ver.1.15ZEALTLET,

AR 1.4 kg

- A 5.4 kg
REEEER 0.72 kg {ig®
g b 1.9 kg -
Z0fts 13 kg

OT-YEENH L. PCREBLUVEE - EERBESBLIELN,
OLLRIIDOVNTUL EE - EERBCHEINLEAFERELEGEICLARHONEE A,
(BBB4EURL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

